‘Tnit 1 STUDY GUIDE AssessmentID:  dna.64129 1b.1817210

. ns: Answer the following question(s).

1 Select all options in which the distance between the 2 numbers on the number line is the same as

|— 84,
A. -Band4
B. -~8and -4
C. 8and4
D. 8and -4

This table shows the monthly change in Sara's bank account balance for each month listed. For example,
the account balance change of -30 means that Sara's balance decreased by $30 from the beginning of the
month to the end of the month of February.

Account Balance
Meonth Change
{Dollars)
[ January | +38 i
] February || ~30 ;
I March [l -19 l
| April | +49 |

Determine whether each statement about Sara's bank account balance is true or fals, based on the
information in the table.

A. Sara has less money in her account at the end of February than at the end of any other month.
B. Sara's account balance is the same at the end of April as it is at the end of January.
C. Sara has more money in her account at the end of April than she did at the beginning of January.

The weather report predicted that the low temperature would be —8 degrees Fehrenheit. The radio
announcer said, "The low temperature was 5 degrees colder than predicted!”

What was the low temperature, in degrees Fehrenheit?

I |

Enter the value ofthe 2.1 + (—3) — (- 0.9)..
| |

Select all expressions that equal —7 — ( — 12) .

A T+(-12)
B. =7+(12)
C. —7+12
b. 7412
Nluminate Ttembank™ Continue: Turn to the next page.
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ELMS Unit 1 STUDY GUIDE

Asgsessment ID:  dna.64129 ib.1817210

Directions: Answer the following question(s).

@ An equation is shown.
-20.5+10.25

What is the value of the expression?

A, -11.25
B. -10.25
C. -975
D. -9.25

An equation is shown.

8.75 + (—14.5)
What is the value of the expression?
A. -575
B. -55
C. -525
D. 575

E An equation is shown.
255+ 5.75

What is the value of the expression?

A. -20.75
B. -20

C. -19.75
D. 1875

@ An eqguation is shown.
45.75 + {-47.5)

What is the value of the expression?
A, -9325
B. 225
C. 2

D. -1.75

Illuminate Itembank™
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ELMS Unit 1 STUDY GUIDE Assessment ID:  dna.64129 1b.1817210

Directions: Answer the following question{(s).

10| Select two of the expressions that have a value of -8.

~-2+6

—4 + (-4)
6 + (—14)
11 + (-3)

O 0aw>

Using the number line below, determine which of the following expressions are equal to —9. Select
all that apply.

—
ek

-13 -8 -4 0 4 8 12
~12 — (=3)

54

1—(-8)

514

10— 1

mT 0w >

An equation is shown.

3.5 + (~18.25)

—
o]

What is the value of the expression?
-15.25
~14.75
14.75
21.75

OO w >

13| What is the value of 6 — ( —8) +{ —12) +47?

A 2
B.
C. 6
D. 28
14| Which situation will result in a neither positive nor negative number?
A. Dan owes his brother $10 and pays him $5.
B. Jili climbs 30 feet uphill, then tumbles down 25 feet.
C. Molly digs a hole 3 feet deep. Later, her dad fills the hole.
D. Greg gains 10 yards on one football play, but loses 15 yards on the next play.
Illuminate Itembank™ Continue: Turn to the next page.
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ELMS Umit 1 STUDY GUIDE Assessment IID: dna.64129  1b.1817210

Directions: Answer the following question(s).

151 Ralph owes the bank $86.25. He deposits $80.00 into his account.

What is the current balance of Ralph's account?

3
16 The temperature at noon on a cold winter day was - 141 °F. By evening, the temperature had
1 .
dropped to — 181 °F. By how much did the temperature change?
A. 1
It decreased 42— °F
B. 1
It increased 4-2~ °F
C. 1
It decreased 3— °F
2
D
It increased 3~2- °F
[Huminate Itembank™ Continue: Turn to the next page.
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ELMS Unit 1 STUDY GUIDE Assessment ID: dna.64129  ib.1817210
Directions: Answer the following question(s).

iue if the expression shown below?

\\1 8| What is the

dalue of the expression —(2% - 7) - 6%—?

ich of the following statements correctly explains the value of the expression 55 — 77

21| Which expression has the greatest value?

—U5—3)+22
12-(5-6)+3
—1+(5(-3+9)
9—(—2+6)+11

oW

Hluminate Itermnbank™ Continue: Turn to the next page.
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ELMS Unit 1 STUDY GUIDE Assessment ID:  dna.64129  ib.1817210

Directions: Answer the following question(s).

22

If a bank represents deposits with positive numbers and withdrawals as negative numbers, what could
5 - ( — 20) represent?

A. Five deposits of $20
B. Five withdrawals of $20
C. A deposit of $5 followed by a $20 withdrawal
D. A $5 withdrawat followed by a $20 deposit
23 | Which of the following expressions resuits in a positive number? Select three that apply.
A —6(=3)(-2)
B. —4{3-1)
C. -3(-8)
D. -3(-2+8)
E. 6(4-2)
i
24 Enter the value of ~2—(1.7)
E |
1
25 Enter the value of ( — 8)(45)(§)
[ ]
261 Over 4 months, a total of § 500 was deducted from Wayne's checking account for his auto insurance. Which
number sentence best illustrates the amount by which Wayne's account changed each month?
A. 500+4=125
B. -500+ —4=125
C. -500+4=—125
D. 500+ —4= —125
277 | Mariana bought a breakfast sandwich every morning for 21 days. Her bank account shows that she spent a
total of § 94.50 on breakfast sandwiches. Which equation best illustrates the amount by which Mariana's
bank account changed each morning?
A, 9450+21 =450
B. 94.50-21=73.50
C. —9450+21= —450
D. —94.50421 = —73.50
Tiluminate Ttembank™ Continue: Turn to the next page.
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Directions: Answer the following question(s).

28 What is the value of the expression —12 x %’?

I ]

29| select all quantifies that are equal to 2

-G’
A2
g
B. =2
-5
C. =2
9
D. _2
9
E. -2
9

30| which statement about the expression —g X — % is true?

A. The product is less than —1.
B. The product is greater than 1.
C. The product is a positive number.
ID. The product is less than both factors.
Huminate Itembank™ Stop: You have finished the assessment,
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